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After a pulse is found, a blood
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! Exampie¥

* Pao2 :90 mmhg

* Ph: 7.25

* Paco2 : 50 mmhg

* Hco3: 22 mEqg/L

Interpretation:

uncompensated respiratory acidosis ©



! Exampie%

* Pao2 :90 mmhg

* Ph: 7.25

* Paco2 :40 mmhg

Hco3: 17 mEq/L »

Interpretation:

uncompensated metabolic acidosis *



! Exampie%

* Pao2 : 90 mmhg
* Ph: 7.37

* Paco2:60 mmhg
* Hco3:38 mEqg/L
Interpretation:

compensated respiratory acidosis with metabolic
alkalosis



! Exampie§

* Pao2 :90 mmhg
* Ph:7.42

* Paco2:48 mmhg
* Hco3: 35 mEq/L
Interpretation: «

compensated metabolic alkalosis with respiratory
acidosiso
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Example 5

Pao2 :56 mmhg
Ph:7.25

Paco2:50mmhg
Hco3: 23 mEqg/L
Interpretation: ?
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Example 6

Pao2 :40 mmhg
Ph:7.15
Paco2:40mmhg
Hco3: 15 mEqg/L
BE=-6
Interpretation: ?
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Example 7

Pao2 :85 mmhg
Ph:7.55
Paco2:35mmhg
Hco3: 30 mEqg/L
BE=+8
Interpretation: ?
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Example 8

Pao2 :90 mmhg
Ph:7.1
Paco2:60mmhg
Hco3: 16 mEqg/L
BE=-6
Interpretation: ?



! Example %

Pao2 :55 mmhg
Ph:7.6
Paco2:20mmhg
Hco3: 32 mEqg/L
BE=+8
Interpretation: ?
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Example 10

Pao2 :65 mmhg
Ph:7.35
Paco2:25mmhg
Hco3: 12 mEqg/L
BE=-10
Interpretation: ?
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Example 11

Pao2 :80 mmhg
Ph:7.36
Paco2:55mmhg
Hco3: 33 mEqg/L
BE=+9
Interpretation: ?






